हितचिंतक देणगीदारांस नम निवेदन

महोदय

जीवन संजीवन सेवा ट्रस्ट आनंदाश्रय अणाव मध्ये सुमारे पन्नास निराधार वृध्द समाजबांधवांसाठी तहहयात विनामूल्य सेवा दिली जाते. अन्न, वस्त्र, निवारा व वैद्यकीय उपचार असे सेवेचे स्वरुप असते. आपण हे जाणताच आणि आपण सर्व हितचिंतक समाजबांधव आजवर दान सहकार्य करीत आलात.

दाखल लाभार्थी उत्तरोत्तर जराजर्जर अवस्थेत बेडरीडन अर्थात अंथरुणाला खिळतात. व संडास लघवी बेडवरच होतात अशा अवस्थेत आमचा सेवकवर्ग यथाशक्ती सेवा करीत असला तरी इतर नॉर्मल लाभार्थ्यांना त्या कुबट वासाचा त्रास हा संभवतोच अशा वेळी अशा बेडरीडन रुग्ण लाभार्थ्यांसाठी विशेष कक्ष असावा म्हणून दोन विशेष कक्ष बांधावे असे ठरवून आपणा हितचिंतक देणगीदारांस नम्म निवेदन करीत आहोत की, आजवर दानदेणगी देवून आपण आनंदाश्रय सेवाकार्यास सहकार्य केलेले आहेच तसेच या दोन स्पेशल वॉर्डसाठी आपल्या प्रिय व्यक्तीच्या स्मरणार्थ आर्थिक सहाय्य करुन सदर कक्षांचे बांधकाम पूर्णत्वास नेण्यास सहकार्य करावे ही विनंती. आपल्या प्रियजनांच्या नावाची नेमप्लेट त्या कक्षावर कायम स्वरुपी लावली जाते.

धन्यवाद .

जीवन संजीवन सेवा ट्रस्ट A/C no 35643744348 स्टेट बँक ऑफ़ इंडीया शाखा - सिंधुदुर्गनगरी नवनगर BR.code - 4511 IFSC - SBIN0004511

आपला विश्वास

बबन काका परब संस्थापक अध्यक्ष जीवन संजीवन सेवा ट्रस्ट आनंदाश्रय अणाव ता. कुडाळ जि. सिंध्दुर्ग

9970430992 / 9049916882

SUNIL KUBAL

CIVIL ENGINEER & CONTRACTOR M.I.D.C. KUDAL, DIST- SINDHUDURG.-416550

Estimate for proposed Building for JEEVAN SANJEEVAN ANANDASHRAY, ANAV, MAYEKARWADI Tal.- Kudal, Dist.- Sindhudurg. Ground Floor (Block A) ABSTRACT

SR. NO.	DISCRIPTION	QTY.	UNIT	RATE	AMOUNT
1	Excavation for foundation in soft strata of all types sand, gravel soft murum & hard murum including removing the excavated material upto a distance of 50 meters beyond the building area and lift upto 1.5 meter stacking and spreading as directed dewatering shoring and strutting preparing the bed for the foundation and necessary back filling etc. complete.	12.40	M ³	550.00	6820.00
2	Providing and filling in plinth and flooring with contractor's murum in layers including watering, compaction complete.	17.04	M ³	350.00	5964.00
3	Providing dry trap / granite / quartzite / gneiss rubble stone soiling 15 cm to20 cm. thick including hand packing and compacting complete.	11.19	M ³	950.00	10630.50
4	Providing and laying in situ cement concrete 1:4:8 of trap / granite / quartzite / gneiss metal for footing foundation and bedding including dewatering (without form work), compacting and curing.	3.64	M ³	5500.00	20020.00
5	Laying in situ, cement concrete M-20 of trap/granite/quartzite/gneiss metal for R.C.C. work in Foundations like loft, trap Foundation, and footing of R.C.C. columns and steel stanchions including bailing cut water, manually form work, compaction & curing raugheing the surface of special finish is to be provided (excluding reinforcement mild or tor steel)	2.60	M ³	9500.00	24700.00
6	Casting in situ cement concrete M- 20 of trap granite, quartzite/gneiss metal for R.C.C. columns as per detailed drawings and designs, are as directed by engineering in charge including centering formwork; compaction, and curing (Excluding mild or tor steel reinforcement)	1.81	M ³	10500.00	19005.00
7	Casting in situ MS cement concrete M-20 of trap granite/quartzite/gneiss metal for R.C.C. plinth beams as per detailed designs and drawings or as directed by engineering in charge including centering form work compaction and roughening if special finish is to be provided and curing (Excluding mild or tor steel reinforcement)	2.12	M ³	10000.00	21200.00
	Providing Laterite stone masonry in cement mortar 1:6 in Foundations.	5.54	M ³	5200.00	28808.00

granite/quartzite/gneiss metal for R.C.C. floor beams as per detailed designs and drawings or as directed by engineering in charge including centering form work compaction and roughening if special finish is to be provided and curing (Excluding mild or tor steel reinforcement		M ⁴	10500.00	26355.00
quartzite / gneiss metal for R.C.C. slab of all thickness as per detailed designs and drawings including centering form work compacting roughening the surface		M ³	11500.00	51888.00
trap granite / quartzite / gneiss metal for R.C.C. lintels / Chajja/ loft/paradi as per detailed drawings and designs or as directed by Architect in charge formwork		M ³	12500.00	11862.50
	9.188	M ³	5500.00	50534.00
Providing cement plaster 12mm thick in single coat in cement mortar 1:4 with neeru finish to stone masonary		M ²	315.00	33823.44
screened sand in all position including base coat of 15mm thick in c.m. 1:4 using water proofing compound @ 1kg/cement bag curing the same for not less than two days and keeping the surface of base coat rough to receive the sand face treatment 6 to 8 mm thick in		M ²	340.00	37887.90
Providing and fixing Marbonite of IS std and approved quality for flooring in required position laid on bed of cement mortar 1:4 including cement float filling joint with white/colour cement slurry cleaning curing complete.		M ²	1600.00	45488.00
	19.66	Rm	180.00	3538.80
Fixing designer flush door shutter for second class doors including chamfering rounding, rebating and hold fast and finishing with complete as per detailed drawings & designing etc. complete.	1.89	M ²	3000.00	5670.00
Supplying and fixing in position of oxidized extruded modular aluminum section two/three tracks sliding windows mounted on rectangular frame of size 63 X 38 X 2.00mm thick (1.054 kg/Rmt) made up of two / three track drain bottom section of size 61 X 45 X 1.3mm thick (1.055 kg/Rmt) and top and sides section of size 61 X 31 X 1.3 mm thick (0.659 kg/Rmt) The shutter should be of beraring bottom of size 40 X 18 X 1.2mm thick (0.417kg/Rmt) top member of size 40 X 18 X1.20mm thick (0.475 kg/Rmt) interlocking section size 43 X 27 X 1.30mm thick (0.558 kg/Rmt) and handle section of size 43 X 18 X 1.30mm thick (0.424kg/Rmt) selected quality 5.5.mm thick clear glass to be fixed in shutter with neoprene gasket with approved quality PVC rollers necessary locks handles PVC lining and wooden encasement wherever necessary etc.	4.77	M ²	3500.00	16695.00
	granite/quartzite/gneiss metal for R.C.C. floor beams as per detailed designs and drawings or as directed by engineering in charge including centering form work compaction and roughening if special finish is to be provided and curing (Excluding mild or tor steel reinforcement Casting in situ cement concrete M-150 of trap / granite / quartzite / gneiss metal for R.C.C. slab of all thickness as per detailed designs and drawings including centering form work compacting roughening the surface if special finish is to be provided and curing (Excluding tor steel) Providing and casting in situ cement concrete M-20 of trap granite / quartzite / gneiss metal for R.C.C. lintels / Chajja/ loft/paradi as per detailed drawings and designs or as directed by Architect in charge formwork compacting roughening the surface if finish is to be provided and curing (Excluding tor steel) Providing Laterite stone masonry in cement mortar 1:6 in Superstructure. Providing cement plaster 12mm thick in single coat in cement mortar 1:4 with neeru finish to stone masonary surface, or concrete in all positions including scaffolding and curing complete. Providing Sand face plaster externally using approved screened sand in all position including base coat of 15mm thick in c.m. 1:4 using water proofing compound @ 1kg/cement bag curing the same for not less than two days and keeping the surface of base coat rough to receive the sand face treatment 6 to 8 mm thick in cement mortar 1:4 finishing the surface by taking out grains and curing, scaffolding etc. curring complete. Providing and fixing Marbonite of IS std and approved quality for flooring in required position laid on bed of cement mortar 1:4 including cement float filling joint with white/colour cement slurry cleaning curing complete. Providing & fixing Skirting of 4" ht. including cement morter , curing etc. Fixing designer flush door shutter for second class doors including chamfering rounding, rebating and hold fast and finishing with complete as per detailed drawings & designi	granite/quartzite/gneiss metal for R.C.C. floor beams as per detailed designs and drawings or as directed by engineering in charge including centering form work compaction and roughening if special finish is to be provided and curing (Excluding mild or tor steel reinforcement Casting in situ cement concrete M-150 of trap / granite / quartzite / gneiss metal for R.C.C. slab of all thickness as per detailed designs and drawings including centering form work compacting roughening the surface if special finish is to be provided and curing (Excluding centering form work compacting roughening the surface if special finish is to be provided and curing (Excluding tor steel) Providing and casting in situ cement concrete M-20 of trap granite / quartzite / gneiss metal for R.C.C. lintels / Chajia/ loft/paradi as per detailed drawings and designs or as directed by Architect in charge formwork compacting roughening the surface if finish is to be provided and curing (Excluding tor steel) Providing Laterite stone masonry in cement mortar 1:6 in Superstructure. Providing Cament plaster 12mm thick in single coat in cement mortar 1:4 with neeru finish to stone masonary surface, or concrete in all positions including scaffolding and curing complete. Providing Sand face plaster externally using approved screened sand in all position including base coat of 15mm thick in c.m. 1:4 using water proofing compound @ 1kg/cement bag curing the same for not less than two days and keeping the surface of base coat rough to receive the sand face treatment 6 to 8 mm thick in cement mortar 1:4 finishing the surface by taking out grains and curing, scaffolding etc. curring complete. Providing and fixing Marbonite of IS std and approved quality for flooring in required position laid on bed of cement mortar 1:4 including cement float filling joint with white/colour cement slurry cleaning curing complete. Providing & fixing Skirting of 4" ht. including cement mortar 1:4 including cement float filling joint with white/colour cement slurry clea	granite/quartzite/gneiss metal for R.C.C. floor beams as per detailed designs and drawings or as directed by engineering in charge including centering form work compaction and roughening if special finish is to be provided and curing (Excluding mild or tor steel reinforcement Casting in situ cement concrete M-150 of trap / granite / quartzite / gneiss metal for R.C.C. slab of all thickness as per detailed designs and drawings including centering form work compacting roughening the surface if special finish is to be provided and curing (Excluding tor steel) Providing and casting in situ cement concrete M-20 of trap granite / quartzite / gneiss metal for R.C.C. lintels / Chajja/ loft/paradi as per detailed drawings and designs or as directed by Architect in charge formwork compacting roughening the surface if finish is to be provided and curing (Excluding tor steel) Providing Laterite stone masonry in cement mortar 1:6 in Superstructure. Providing Cement plaster 12mm thick in single coat in cement mortar 1:4 with neeru finish to stone masonary surface, or concrete in all positions including scaffolding and curing complete. Providing Sand face plaster externally using approved screened sand in all position including base coat of 15mm thick in c.m. 1:4 using water proofing compound @ 1kg/cement bag curing the same for not less than two days and keeping the surface of base coat rough to receive the sand face treatment 6 to 8 mm thick in cement mortar 1:4 finishing the surface by taking out grains and curing, scaffolding etc. curring complete. Providing and fixing Marbonite of IS std and approved quality for flooring in required position laid on bed of cement mortar 1:4 including cement float filling joint with white/colour cement slurry cleaning curing complete. Providing & fixing Skirting of 4" ht. including cement mortar 1:4 including cement float filling joint with white/colour certain under the provided prov	grantic/quartzite/gneiss metal for R.C.C. floor beams as per detailed designs and drawings or as directed by engineering in charge including centering form work compaction and roughening if special finish is to be provided and curing (Excluding mild or tor steel reinforcement Casting in situ cement concrete M-150 of trap / grantic / quartzite / gneiss metal for R.C.C. slab of all thickness as per detailed designs and drawings including centering form work compacting roughening the surface if special finish is to be provided and curing (Excluding tor steel) Providing and casting in situ cement concrete M-20 of trap grantic / quartzite / gneiss metal for R.C.C. lintels / Chajig/ loft/paradi as per detailed drawings and designs or as directed by Architect in charge formwork compacting roughening the surface if finish is to be provided and curing (Excluding tor steel) Providing Laterite stone masonry in cement mortar 1:6 9.188 M³ 5500.00 in Superstructure. Providing Carement plaster 12mm thick in single coat in cement mortar 1:4 with neeru finish to stone masonary surface, or concrete in all positions including scaffolding and curing complete. Providing Sand face plaster externally using approved screened sand in all position including base coat of 15mm thick in c.m. 1:4 using water proofing compound @1 kg/cement bag curing the same for not less than two days and keeping the surface of base coat rough to receive the sand face treatment 6 to 8 mm thick in cement mortar 1:4 finishing the surface of base coat rough to receive the sand face treatment float filling joint with white/colour cement surry cleaning curing complete. Providing and fixing Marbonite of IS std and approved quality for flooring in required position laid on bed of cement mortar 1:4 including cement float filling joint with white/colour cement surry cleaning curing complete. Providing A fixing Skirting of 4" ht. including cement mortar 1:4 including cement float filling joint with white/colour cement surry cleaning curing complete. Providing

?

19	Providing & fixing Backelite doors for toilet block.	1.575	M ²	2500.00	3937.50
20	Providing & fixing glazed tiles for dado in toilet including curing, filling joints etc. complete.	10.56		1450.00	15312.00
21	Providing & fixing mild steel grill work for windows, ventilators weighing 15kg per sq.mts. as per drawing, including necessary fixtures, welding and painting with one coat of anti-corrosive paint etc. complete.	4.77	M ²	1600.00	7632.00
22	Providing and applying Tractor emulsion of approved colour shade and quality to new surface in one coat primer, Putty & Two coat colour including scaffolding preparing the surfaces complete.	107.376	M ²	250.00	26844.00
23	Providing and applying one coat of primer and two coat of ace or equivalent approved manufacture and colour to the plastered surface one coat primer & Two coat colour including scaffolding preparing the surface watering for two days complete.	111.435	M ²	275.00	30644.63
24	Providing & Fixing Wall Hung Comode of of approved colour & make.	1	Nos.	8000.00	8000.00
25	Providing & Fixing Wash basin of size approved colour & make.	1	Nos.	2500.00	2500.00
26	Providing & fixing granite framing for doors and windows including chamfering polishing etc.complete	28.80	Rm	550.00	15840.00
27	Providing & Laying IPS coba for top on the roof with necessary waterproofing compound.	31.82	M ²	350.00	11137.00
28	Providing and fixing in position H.Y.S.D. bars reinforcement of varioud distempers for R.C.C. work as per detailed drawing and design including cutting bending hooking the bars as required completed.	1.31	MT.	68000.00	89080.00
TOTAL~					
ADD 10 % ELECTRIFICATION & PLUMBING~					
				TOTAL~	694998.99
				SAY~	6,95,000.00

SUNIL KUBAL

CIVIL ENGINEER & CONTRACTOR M.I.D.C. KUDAL, DIST- SINDHUDURG.-416550

Estimate for proposed Building for JEEVAN SANJEEVAN ANANDASHRAY, ANAV, MAYEKARWADI Tal.- Kudal, Dist.- Sindhudurg. Ground Floor (Block B) ABSTRACT

SR. NO.	DISCRIPTION	QTY.	UNIT	RATE	AMOUNT
1	Excavation for foundation in soft strata of all types sand, gravel soft murum & hard murum including removing the excavated material upto a distance of 50 meters beyond the building area and lift upto 1.5 meter stacking and spreading as directed dewatering shoring and strutting preparing the bed for the foundation and necessary back filling etc. complete.	18.95	M ³	550.00	10422.50
2	Providing and filling in plinth and flooring with contractor's murum in layers including watering, compaction complete.	14.66	M ³	350.00	5131.00
3	Providing dry trap / granite / quartzite / gneiss rubble stone soiling 15 cm to20 cm. thick including hand packing and compacting complete.	10.89	M ³	950.00	10345.50
4	Providing and laying in situ cement concrete 1:4:8 of trap / granite / quartzite / gneiss metal for footing foundation and bedding including dewatering (without form work), compacting and curing.	3.55	M ³	5500.00	19525.00
5	Laying in situ, cement concrete M-20 of trap/granite/quartzite/gneiss metal for R.C.C. work in Foundations like loft, trap Foundation, and footing of R.C.C. columns and steel stanchions including bailing cut water, manually form work, compaction & curing raugheing the surface of special finish is to be provided (excluding reinforcement mild or tor steel)	2.60	M ³	9500.00	24700.00
6	Casting in situ cement concrete M- 20 of trap granite, quartzite/gneiss metal for R.C.C. columns as per detailed drawings and designs, are as directed by engineering in charge including centering formwork; compaction, and curing (Excluding mild or tor steel reinforcement)	1.81	M ³	10500.00	19005.00
7	Casting in situ MS cement concrete M-20 of trap granite/quartzite/gneiss metal for R.C.C. plinth beams as per detailed designs and drawings or as directed by engineering in charge including centering form work compaction and roughening if special finish is to be provided and curing (Excluding mild or tor steel reinforcement)	2.50	M ³	10000.00	25000.00
8	Providing Laterite stone masonry in cement mortar 1:6 in Foundations.	6.53	M ³	5200.00	33956.00

9	Casting in situ MS cement concrete M-20 of trap granite/quartzite/gneiss metal for R.C.C. floor beams as per detailed designs and drawings or as directed by engineering in charge including centering form work compaction and roughening if special finish is to be provided and curing (Excluding mild or tor steel	1.82	M ⁴	10500.00	19110.00
10	reinforcement Casting in situ cement concrete M-150 of trap / granite / quartzite / gneiss metal for R.C.C. slab of all thickness as per detailed designs and drawings including centering form work compacting roughening the surface if special finish is to be provided and curing (Excluding	3.168	M ³	11500.00	36432.00
11	tor steel) Providing and casting in situ cement concrete M-20 of trap granite / quartzite / gneiss metal for R.C.C. lintels / Chajja/ loft/paradi as per detailed drawings and designs or as directed by Architect in charge formwork compacting roughening the surface if finish is to be provided and curing (Excluding tor steel)	1.330	M ³	12500.00	16625.00
12	Providing Laterite stone masonry in cement mortar 1:6	12.374	M^3	5500.00	68057.00
13	in Superstructure. Providing cement plaster 12mm thick in single coat in cement mortar 1:4 with neeru finish to stone masonary surface, or concrete in all positions including scaffolding and curing complete.	116.47	M ²	315.00	36688.05
14	Providing Sand face plaster externally using approved screened sand in all position including base coat of 15mm thick in c.m. 1:4 using water proofing compound @ 1kg/cement bag curing the same for not less than two days and keeping the surface of base coat rough to receive the sand face treatment 6 to 8 mm thick in cement mortar 1:4 finishing the surface by taking out grains and curing, scaffolding etc. curring complete.	90.117	M ²	340.00	30639.78
15	Providing and fixing Marbonite of IS std and approved quality for flooring in required position laid on bed of cement mortar 1:4 including cement float filling joint with white/colour cement slurry cleaning curing complete.	24.44	M ²	1600.00	39104.00
16	Providing & fixing Skirting of 4" ht. including cement morter, curing etc.	18.28	Rm	180.00	3290.40
17	Fixing designer flush door shutter for second class doors including chamfering rounding, rebating and hold fast and finishing with complete as per detailed drawings & designing etc. complete.	3.78	M ²	3000.00	11340.00
18	Supplying and fixing in position of oxidized extruded modular aluminum section two/three tracks sliding windows mounted on rectangular frame of size 63 X 38 X 2.00mm thick (1.054 kg/Rmt) made up of two / three track drain bottom section of size 61 X 45 X 1.3mm thick (1.055 kg/Rmt) and top and sides section of size 61 X 31 X 1.3 mm thick (0.659 kg/Rmt) The shutter should be of beraring bottom of size 40 X 18 X 1.2mm thick (0.417kg/Rmt) top member of size 40 X 18 X1.20mm thick (0.475 kg/Rmt) interlocking section size 43 X 27 X 1.30mm thick (0.558 kg/Rmt) and handle section of size 43 X 18 X 1.30mm thick (0.424kg/Rmt) selected quality 5.5.mm thick clear glass to be fixed in shutter with neoprene gasket with approved quality PVC rollers necessary locks handles PVC lining and wooden encasement wherever necessary etc.	5.22	M ²	3500.00	18270.00

19	Providing & fixing Backelite doors for toilet block.	3.15	M ²	2500.00	7875.00
20	Providing & fixing glazed tiles for dado in toilet including curing, filling joints etc. complete.	24.29	M ²	1450.00	35220.50
21	Providing & fixing mild steel grill work for windows, ventilators weighing 15kg per sq.mts. as per drawing, including necessary fixtures, welding and painting with one coat of anti-corrosive paint etc. complete.	5.22	M ²	1600.00	8352.00
22	Providing and applying Tractor emulsion of approved colour shade and quality to new surface in one coat primer , Putty & Two coat colour including scaffolding preparing the surfaces complete.	116.47	M ²	250.00	29117.50
23	Providing and applying one coat of primer and two coat of ace or equivalent approved manufacture and colour to the plastered surface one coat primer & Two coat colour including scaffolding preparing the surface watering for two days complete.	90.117	M ²	275.00	24782.18
24	Providing & Fixing Wall Hung Comode of of approved colour & make.	2	Nos.	8000.00	16000.00
25	Providing & Fixing Wash basin of size approved colour & make.	2	Nos.	2500.00	5000.00
26	Providing & fixing granite framing for doors and windows including chamfering polishing etc.complete	42.77	Rm	550.00	23523.50
27	Providing & Laying IPS coba for top on the roof with necessary waterproofing compound.	20.00	M ²	350.00	7000.00
28	Providing AC sheet Roofing for part of the roof at the toilet block side including all fixtures and fastening	14.02		1200.00	16824.00
29	Providing and fixing in position H.Y.S.D. bars reinforcement of varioud distempers for R.C.C. work as per detailed drawing and design including cutting bending hooking the bars as required completed.	1.05	MT.	68000.00	71400.00
				TOTAL~	672735.91
ADD 10 % ELECTRIFICATION & PLUMBING~ TOTAL~					67273.59
					740009.50
				SAY~	7,40,000.00